Cub Cadet Pabis NCABEOEHN Modd)dtaaet gt Mtabaie RorH @623 or 606-561-4983

Full download: http://manual place.com/downl oad/cub-cadet-parts-manual -for-model -gt2554-tractor-mfg-date-k015-k018/
Page 1 of 96

GT2554 Tractor Mfg Date KO15 - KO18
Air Intake and Filtration

A

(
N

7

/l
e
—]

N\
{ )

Thisisthe cut pages sample. DOWWWFHOW@{“

._u.Z
o0

Parts.com



http://manualplace.com/product/cub-cadet-parts-manual-for-model-gt2554-tractor-mfg-date-k015-k018/

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

GT2554 Tractor Mfg Date KO15 - KO18
Air Intake and Filtration

Page 2 of 96

Ref#  Part Number Qty S/P/F  Description
1 KH-24-743-08 1 Kit, Air Cleaner Cover (Incl. 2-5, 12)
2  KH-54-755-01-S 1 /P Kit, Knob w/Seal (Incl. Ref #2,3)
3 KH-25-341-04-S 1 /P Knob, Cover
4 KH-24-153-20-S 1 Seal, Air Cleaner Cover Knob
5 KH-24-096-69-S 1 /P Cover, Air Cleaner
6 KH-12-100-01 1 /P Wing Nut
7 KH-24-096-01 1 /P Cover, Inner Air Cleaner
8 KH-24-032-03 1 /P Seal, Inner Air Cleaner
9 KH-24-083-02 1 S Precleaner, Element
10 KH-47-883-03-S1 1 /P Element, Air Cleaner (Includes Ref. 9)
11 KH-24-086-53-S 2 Screw, Hex FIng, M6 x 1.0 x 16
12 KH-24-126-21 1 Bracket, Air Cleaner Base
13 KH-24-094-39-S 1 /P Base, Air Cleaner
14 KH-24-041-06 1 /P Gasket, Air Cleaner Base
15 KH-24-164-54-S 1 S  Manifold, Intake (Includes 16,17)
16 KH-24-153-27-S 2 /P O-Ring, Intake Manifold
17 KH-24-041-53-S 1 Gasket, Carburetor
18 KH-M-651040-S 4 Screw, Hex Flange, M6 x 1.0 x 40
19 KH-24-126-130-S 1 Bracket, Air Cleaner Base
20 KH-M-0545010 2 /P Screw, Hex Flange, M5 x .8 x10

WWW.mymowerparts.com



Page 3 of 96

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

Battery, Electrical Components and Switches

GT2554 Tractor Mfg Date KO15 - KO18

N

Amm./v, A\S. )

& //&/ 5 2
o Dy 4 50008
& i S @ O Pt
s \ _mm_ _mo ,.\ ) I _mm_ -
L
Om
P
[
Om ®
G N O -
e i 1111 o nw.,v N //// =4 m_l .mM
TR L FM o=
< B e
@ 0
AH.\V// A/,n.\v.//
///
@ o)
T ) &)
a 3
\ / / )
LY IS
S
AN
i NMMWJ\/ o\ p
Wiy A\
VA 7 Nu
&/ yild
oy
//A\ \\ ’
AN \ !
NS/ o
Vo /
A &
/ y
(@) =
N -
TN
=)
_\mw
I o



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

GT2554 Tractor Mfg Date KO15 - KO18
Battery, Electrical Components and Switches

Page 4 of 96

Ref#  Part Number Qty S/P/F  Description
1 629-04158 1 S  Wire Harness, Main
2 710-3015 2 /P Screw, Hex, 1/4-20 x .75 GR5
3 712-0271 2 /P Sems Nut
4  721-0342 1 S  Gasket, Silicone
5 725-0157 4 /P Tie, Self-Clinch Cable
6  725-04036A 1 S  Meter, Indicator / Hour KO17 & Before
6  725-04022B 1 S  Meter, Indicator / Hour KO17 & After
7 725-04175 1 S  Switch, PTO
8  725-04227A 1 S  Switch, Key/Module
9  725-0963 2 S  Lamp, Head Light
10 725-1648 1 S Relay
11 725-1649 2 S  Socket, Light, 1/4 Turn
12 925-1707D 1 /P Battery
13  725-2003 1 Receptacle, Power 12V
14  725-2054 2 S  Key, Ignition
15  725-3164A 1 S  Switch, Interlock (Brake)
16  725-3167 1 S  Switch, Snap Mount (Reverse)
17 725-3243 2 Fuse, 25 Amp
18  725-04008 1 Fuse, 5 Amp
19  725-04040 1 S  Switch, Seat
20 726-0154 9 S Tie, Pushmount
21  726-3055 9 Clip, Cable
22  629-04142A 1 /P Harness, Head Light

WWW.mymowerparts.com



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

Page 5 of 96

WWW.mymowerparts.com

Blower Housing and Baffles Mtg Date KO16 & After

GT2554 Tractor Mfg Date KO15 - KO18




For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

GT2554 Tractor Mfg Date KO15 - KO18
Blower Housing and Baffles Mtg Date KO16 & After

Page 6 of 96

Ref#  Part Number Qty S/P/F  Description
1 KH-24-027-175-S 1 /P Housing, Blower (Incl. Ref #2-4)
2  KH-24-100-02 2 Nut, Plastic
3  KH-25-139-16 1 Plug, Button, 9/16
4  KH-24-100-01 3 Nut, Plastic
5 KH-M-561016-S 1 Screw, Hex Flange, M5 x 0.8 x 16
6 KH-M-545016-S 3 /P Screw, Hex Flange, M5 x 0.8 x 16
7 KH-M-545020-S 4 Screw, Hex Flange, M5 x 0.8 x 20
8 KH-24-146-50-S 1 Plate, Backing
9 KH-24-063-39-S 1 S Baffle, Cylinder Barrel - #2 Side
10 KH-M-645016-S 6 /P Screw, Hex Flange, M6 x 1.0 x 16
11  KH-24-063-70-S 1 Baffle, Valley - #2 Side
12 KH-M-0545010 2 /P Screw, Hex Flange, M5 x 0.8 x 10
13  KH-24-063-59-S 1 Baffle, Valley - #1 Side
14  KH-24-063-58-S 1 S Baffle, Cylinder Barrel - #1 Side
KH-24-154-11-S 1 Clip, Speed Nut Not Illustrated
KH-41-037-10-S 1 Nameplate, Service Not lllustrated

WWW.mymowerparts.com



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

Page 7 of 96

GT2554 Tractor Mfg Date KO15 - KO18

Blower Housing and Baffles Mtg Date K016 & Before

AN
AN

NN N
N, \
N A NN
oy N\

\

N\

AN
2
(2

7

7
L
Y o

WWW.mymowerparts.com



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

GT2554 Tractor Mfg Date KO15 - KO18
Blower Housing and Baffles Mtg Date K016 & Before

Page 8 of 96

Ref#  Part Number Qty S/P/F  Description
1 KH-24-027-175-S 1 /P Housing, Blower (Incl. Ref #2-4)
2  KH-24-100-02 2 Nut, Plastic
3  KH-25-139-16 1 Plug, Button, 9/16
4  KH-24-100-01 3 Nut, Plastic
5 KH-M-0551016 1 Screw, Hex Flange, M5 x 0.8 x 16
6 KH-M-545016-S 3 /P Screw, Hex Flange, M5 x 0.8 x 16
7  KH-M-0545020 4 /P Screw, Hex Flange, M5 x 0.8 x 20
8 KH-24-146-16-S 1 /P Plate, Backing - #2 Side
9 KH-M-0645016 1 S  Screw, Hex Flange, M6 x 1.0 x 16
10 KH-24-063-20 1 /P Baffle, Cylinder Barrel - #2 Side
11  KH-24-063-70-S 1 Baffle, Valley - #2 Side
12 KH-M-550010-S 2 Screw, Hex Flange, M5 x 0.8 x 10
13  KH-24-063-59-S 1 Baffle, Valley - #1 Side
14  KH-24-063-58-S 1 S Baffle, Cylinder Barrel - #1 Side
15  KH-24-146-20-S 1 /P Plate, Backing - #1 Side

WWW.mymowerparts.com



Cub Cadet Pabis NCABEOEHN Modd)dtaaet gt Mtabaie RorH @623 or 606-561-4983

Full download

for-model-gt2554-tractor-mfg-date-k015-k018/

/Imanual place.com/downl oad/cub-cadet-parts-manual -

http

Page 9 of 96

GT2554 Tractor Mfg Date KO15 - KO18

Brake and Control Pedal Mtg Date KO16 & After

W/// \ A N

o 2

SR,

%wmmwwwwmwr\ﬁ\

Ty Mw\
\

R
s

4
AN
N ///WH
.

i

ye

\fmu\

com

N

B,

Thisisthe cut pages sample. DOWWWF’@OWWI



http://manualplace.com/product/cub-cadet-parts-manual-for-model-gt2554-tractor-mfg-date-k015-k018/

